000000 (@DbOOoDo0oOooOOoooooag)



Joooooooooooooboogod
1 Uo0ooooboooboboobogoogo

gboboboogobbuoooobobbooooooobbooooobobobooonbo

# 1s scalar
Makefile anime.pro main.f pldt.pro pldtps.pro rddt.pro

000000 FortranOOODOODOOOOO0DOOOOFortran0O00 000000000
OO0O000O00DbO00b00bO0bU00obDb0O0b0b0obObO00b0o0b000 mainfO
Fortran O OO DOOODOOOOOO

1.1 000000000 00000 (make)

Ooooooooboobooboobobobuobobobo0ouoobobg “scalar” 00
Ubb000OmakeU D DODUOOOOUOOODODOOODODOODDODOOODOODOOOOOODODOO
gbouogbbgboboodbuobodbiubidUmain.o 0000 OOO0OOOOUO a.out
gbobbuobuoodbbbuoogbbibibldout.datdgdnooon

~
# cd scalar
# make
f77 -c -o main.o main.f
main.f:
MAIN:
f77 -o a.out main.o
./a.out
write step= 0 time= 0.000E+00
write step= 50 time= 0.125E+02
write step= 100 time= 0.250E+02
### normal stop ###
# 1s
Makefile anime.pro main.o pldt.pro rddt.pro
a.outx* main.f out.dat pldtps.pro )
.

1.2 000000000 (out.dat)

bdb00out.datD0O00DLOOO0ODODDODOODODOODOOLDOOODOOOOODOO
guobbugbogogbougboogbbogboooubooboooboobooo 1o
00000000 (jx00000000 (nx) 0000000000000 O 200000



0000000 timestepd (ns)D 00 (time) 0000000000 300000 1020
000000000000000 200 (x) 000000000 (wOODODDOODODOOOOO
gl30oooobboboboobooobobobooooobobobdFortrandgn
O main.£0 53,55, 59000 Format U OO DO OO0 0OO0O0O0O0OO0OOOOOO0OOO

~

# head out.dat
100, 3
0, 0.00
1.0, 1.0000000
2.0, 1.0000000
3.0, 1.0000000

0O(@o)
N J

1.3 0O0Ooooon

ooboobooIibLbggoboubobobodgboobooibLobobooobon
0000000000000 00000000(@diD0000oooooood™

1.3.1 IDLOOO (idl)

Oo0oidloonooobooobogg

ar >

obooooooooboooIibLogbogooon

é A
IDL Version 5.5 (sunos sparc). (c) 2001, Research Systems, Inc.

Installation number: XXXXX.
Licensed for use by: XXXXX

IDL>
-

1.3.2 0000000 (.r rddt)

gubbbbobb0O0 rddt.pro000OOOOOOO0O0O0O0OO0OO0O0OO0OODOODNO
OO00bO0bodbOut.dat”D0000OO00OO0OODOOMIODOO0ODOOOOOOOO
gooobao

[IDL> .T rddt )

o0rmn0000000




1.3.3 00000 (.r pldt)

goboboboobpldt.prol 000D OOOOOO0O0OOOO0O0O0OOOODODODODO
gooo

[IDL> .r pldt ]

O l:scalar OO0 O0O0OOO0OO0OOOO

1.3.4 IDLOOO (exit)

exitU OO OoO IDLOOODOOODOO0ODLOO0OO0

[IDL> exit )




2 JUoboooogooggo

21 0JO0O0O0ooooad

OOo0o0boboobooooooobOoFrFrecsoboooooboobo 2b000 880

gboboboogoboboooobobboooon

c solve equation

do j=1,jx-1
£(j)=0.5%cs*(u(j+1)+u(j))
enddo

f(jx)=f (jx-1)

do j=2,jx-1
w(§)=u(§)-dt/dx* (£ (G)-£ (G-1))
enddo

u(1)=u(2)
u(jx)=u(jx-1)
c ftcs - end

c ftcs - start

>>>

/

22 00000000 (jx)

guobooobuogbgobobsbiud parameter HU OO jxUO000O0O0OO0OOOOO0O

gobbuoooobbbdooooboboooobooboogo

(ﬁ parameter (jx=100)

)




23 000000OO0OO0O0O00O0O (nstop, nskip)

ObOo0oobo0obo0oboobo0ob0o04D00 nstopd 15000 nskipO 000
gbobbuoogodobobobooobobbuooooobooogoboobooobobo
gbobbuogobbobbbuoooobbbuoooobbbooooobobbooon

¢ time control parameters

nstop=100
nskip = 50

2.4 CFLOOOOO (safety)

CFLOODO68000 (safety) 00000000000 0ODDOODOOOOODOO
O000000nskipOOO0ODOOO0OOOOOsafetyl 00000 ooooooonooon
gbobbuoooobbbdooon

c obtain time spacing
safety=0.25

3 0000000000000 (.r anime)

OO00bO0000b0obO0bOdn anime.prod00000OOOO0ODOOOIDLOOO
gbobbuooogbobbuoooobbboooooobooo

[IM).raMme )

gbobbodbbooobbuoobuobbuoobbuobibbuodbbuodibUnskip 1
Oo0bobobooobobobooobbdbanime.prold window D OO O OO OoOoQO
UO0OD0DUOanime.proU00UO0O0OO0OOOO0O0OOOOOO0OODODOOO




0O

O000000000 main.f

-
c ===
c array definitions
c ===
implicit real*8 (a-h,o-z)
parameter (jx=100)
dimension x(1:jx),u(l:jx),f(1:jx)
c ===
c prologue
c ===
¢ time control parameters
nstop=100
nskip = 50
o
¢ 1initialize counters
time = 0.0
ns =0
nx = nstop/nskip+1
.
c Set initial condition
.
pi=4.*atan(1.0)
¢ grid
dx=1.0
x(1)=dx
do j=1,jx-1
x(j+1)=x(j)+dx
enddo
-




c variable

do j=1,jx/2
u(j)= 1.0

enddo

do j=jx/2+1,jx
u(j)= 0.0

enddo

¢ velocity

cs=1.0
.
c OQutput initial condition
c

write(6,103) ns,time

103 format (1x,’ write ’,’step=’,18,’ time=’,el10.3)
open(unit=10,file=’out.dat’,form="formatted’)
write(10,100) jx,nx

100 format(ib,’,’,i5)
write(10,101) ns,time
101 format (i5,’,’,f6.2)
do j=1,jx
write(10,102) x(j),u(j)
enddo
102 format(f5.1,’,’,f10.7)
c ——- |
c time integration
c - |

1000 continue

ns = ns+l
G e
c obtain time spacing

safety=0.25

dt=safety*dx/cs
time=time+dt




solve equation

ftcs - start >>>

do j=1,jx-1
£(j)=0.5%cs*(u(j+1)+u(j))
enddo

f(jx)=f(jx-1)

do j=2,jx-1
u(j)=u(j)-dt/dx*(£f(j)-f(j-1))
enddo

u(1)=u(2)
u(jx)=u(jx-1)
ftcs - end >>>
data output
if (mod(ns,nskip).eq.0) then
write(6,103) ns,time
write(10,101) ns,time
do j=1,jx
write(10,102) x(j),u(j)
enddo
endif

if (ns .1lt. nstop) goto 1000
close(10)

write(6,%) ’ ### normal stop ###’

end




OO0Do0O000D00O0OO0Orddt.pro

/
; rddt.pro

openr,1,’out.dat’
readf,1, jx,nx

; define array
ns=intarr (nx)
t=fltarr(nx)

x=fltarr(jx)
u=fltarr(jx,nx)

; temporary variables for read data
ns_and_t=fltarr(2,1)
x_and_u=fltarr(2, jx)

for n=0,nx-1 do begin
readf,1,ns_and_t
readf,1,x_and_u
ns(n)=fix(ns_and_t(0,0))
t(n)=ns_and_t(1,0)
u(*,n)=x_and_u(1,x*)

endfor

close,1
free_lun,1

x(x)=x_and_u(0, *)
delvar,ns_and_t,x_and_u

help
end

10



0O00dooonDddpldt.pro

e N
'x.style=1

ly.style=1
Ip.charsize=1.4

plot,x,u(*,0) ,xtitle="x’,ytitle="u’,linest=1,yrange=[-1,3],xrange=[0,100]
for n=1,nx-1 do begin

oplot,x,u(*,n)

oplot,x,u(*,n) ,psym=4

endfor

end

N J

O000000000anime.pro

. A
Ix.style=1

ly.style=1

Ip.charsize=1.4

window,xsize=480,ysize=480
xinteranimate,set=[480,480,nx]

for n=0,nx-1 do begin

plot,x,u(*,n) ,xtitle="x’,ytitle="u’,yrange=[-1,3],xrange=[0,100]
oplot,x,u(*,n) ,psym=4

xinteranimate,frame=n,window=0
endfor
xinteranimate

end

11




Jooooogdn
1 10000000

O0000000000000000000000000 (p27300 p282) 000000
Oobooooboooooooogoorrcsoobobobooooooooonboboon
goooodoodooddy=1,.500000 w; =107 =51,..100 0000 u; = 00
00000 v=cAt/Az=0250000000000000000000

1. Lax-Wendroff OO0 OO OO O
2. 00100000000000000
3. 000000000 mnmodDOOOOOOO

000000000000 000O0O000OoooooOD (01.12,01.10000000000

0ooQg
10000000 o
u u
Ou  Ou _ 1
o "o 0 (1)
ooooooo
. A

U, —Uj_E( ]n+1/2_ ]7‘1—1/2) (2)
O0000O00oorFTrcsononoooooooooonon

1 1
fivie = §(fj+1 +fi) = §C(Uj+1 + uy) (3)

gbobouogogbbodadgp2lbbboooobbbbbbuooobobobooobbo
gbobobogdp2reddnbogg

C Il Il Il Il | -1C Il Il Il Il |
0 20 40 60 80 100 0 20 40 60 80 100

02 0000000Lax-WendroffO4+000000000100000000

12



2 Burgers [

100000000000 b00bubibd Burgerst OO

ou 0 [u?

| =]1=0 4

8t+8x<2> (4)
0100000000 nogoogo
DDD(D 1.15,D1.16)DDDDDDDDDDDDDDDDD p23U 00 oonoa

n 1 wj1?  uj? 1
j+1/2 = 5 { (j? + = | glun F sl — ) (5)

gobobooooogn

3 10000000

1oboggoboboboooobobobooo 1obboooan

ou 0%u
il (6)

OFrFTCSOO000D0O00oooooobooooobboboooobbooooooooooo
gbobbuoogobbbuoooobbboo
gobougobbbuogobbibddidlbesbUUdU0 kappa DO O OOOOOMO

‘ )

c variable

do j=1,jx
u(j)= exp(-(((x(j)-x(jx/2))/5.)*%2))
enddo
o
¢ kappa

kappa=1.0
- J
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Jooooogoogooggn
1 000

OO0000oo0ooOo0ooooooDOo0oo0oooooooooooooDoooooo
ooooooooooooooooOoOoObOOO00oOooooooDooOObObbOoO0ooooo
ooo00o0oOo0O0ooooooooOoCoOoOoO0O0oooooDooOoboobooOooooo
Ooo0ooooooooooooooOoo0ooooOoo0oobooOooooOoooooDooDOoo
OO0000b00ob0o0o0oDbOo0o0oob0ooobooobobooooboooDbOgDn CANS
0 Coordinated Astronomical Numerical Software) O 0O O

2 CANSOOODODDODOO

CANSOOOOOoooooOoooOoOogoooooboobooobboboooboboooboo
gobbobooogbobboogobbobbooouooobbbooooobooboooboboon
gobbbobooogoboooooobbbbuooooobbbboooooobobobbo
OO000b0bO0O00O000b0ob0o0o0obO0b0ob0o0obO0obOODUODbDOOoCANSODO
gbobbuooogbbbuoooobbbuoooobbobooobobbboogbboo

CANSOOOO0OOOOOOooDobOobooboobooboboooboboobooobooboo
gogbbbobobbbuougoooolibobobbsbbbbbbuoooooooobbobo
gbooboooobood

3 CANSOOO

CANSOOOOOOOOOOoDOOoOobooOooDbboOoOoDOooobDoboooobooboooo
gbbogbuogobubuogbboogbooooboooboobooomooogoboo
godobobobbouoogbbbbuooobbobouoooooboobobuoooobobobo
gboboggbuogoooogbbodbobobobooouobbuoobbuooboboooboo
gbbbuoodboooobboooobobuoobbbboaogo

gogbbgbuodbbogbooobuouobbooobooobooobboobon
CANSOOOOOODODOOO0ODOOODOOOODOOO0ODOOObDOOObODOOObOOO
gobbuogobbobuogobbbuoobbobbooobbbuoooobbuooooboo
gbbboodgobbooodobbboogbbbboooobobon

CANSOOOODOO0OODOUODOO0ODUOUOOU0ODOO0DOOOoboOOobDOoDbDOOnetCDFOODOO
OO000000000000netCODFOOOOOODOODOODODOOOOOOOOOOOO
goboboooobbbuoooobbbogobooobogon
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4 CANSOOO

CANSOOOOOOoOoooooboooboobooboboboobooboobooboobooo
gbobouoogbbouoobbboooobobbbboogbobboooobbo
O000000000D00000000 Lax-Wendrof OO DOOO0O0OODOOODOOODOO
RoeO OCIP-MOCCTUOOOODOODOOOODOOOOOODOODOOOODOOOODO
OO0000D00b00O00obOoOoboOoboCANSOOO1IoOoboDbbOOobD200030000
00000000000000MPIDOOOOOOOO CANS/MPIOOOOOO

OOOCANSOOODOODOODOOOODODOODOODObDODODODbODODO1O
OO0O000OO00DOOO000OO0 CANSIDOOODOOOODOODOOODOOoOoDobD 20003
OO000D0O00000000DO0Db0ODO CANS2D, CANS3SDODOODODOODOOO

5 CANSOOOOOOO

- D
Makefile UUUODDUOUOUOOODODOOOUO Makefile

cansid/ CANS 1D (10000) 0 Fortran OO O OO
cans2d/ CANS 2D (20000 ) 0 FortranO O OO
cans3d/ CANS 3D (30 000) 0 Fortran OO OO
cansnc/ netCDFO O OOO0O0O0O0O0OOODODOOOOOO

idl/ gbobbooodgobb ipnuggoobo )
-

OO00000000000 cans-1.0000cans3d 000 0OOODOOO

6 CANSUOO WebUO OO
é A

000000000000 oooooooooooooooon
http://www.astro.phys.s.chiba-u.ac. jp/netlab/
N J
4 h
CANSODOODOO
http://www.astro.phys.s.chiba-u.ac.jp/netlab/astro/index.html )
N

16



Jooooboooooooggbogn
1 CANS 1DO0O0OO0OO0OO0O0

CANS 1IDOODODOODODOODOO0OO0OO00ODODOO0OO0OO00O00ODoODOooOOobO0oboon
OO00000O000o00oboO0o0bO0o0DOo0D Lax-Wendrof DO 000 OO0OD0OOODO0O
Oooobo0obooobooD “damlw” D000 OO0OOOO0OOOODOOO

~
# 1ls hdmlw
Makefile mlw_ht.f mlw_m3_g.f mlw_m g.f mlwfull.f
README mlw_ht_c.f mlw_m3t.f mlw_mt.f mlwhalf.f
Readme.tex mlw_ht_cg.f mlw_m3t_c.f mlw_mt_c.f mlwsrcf.f
mlw_a.f mlw_ht_g.f mlw_m3t_cg.f mlw_mt_cg.f mlwsrch.f
mlw_h.f mlw_m.f mlw_m3t_g.f mlw_mt_cgr.f
mlw_h_c.f mlw_m3.f mlw_m_c.f mlw_mt_g.f
mlw_h _cg.f mlw_m3_c.f mlw_m_cg.f mlw_rh.f
mlw_h_g.f mlw_m3_cg.f mlw_m_cgr.f mlwartv.f )
-

O00000000000000000000D0000DODD000DOO00 (o000
ooboooboooboooo)bbooboobboboboobooooooooobooooDo
O0‘md.”000000O00O00OD0OOOODOODO0O0ODOODODOOObOODOOODbDOr D
gbobbuooggoboon

# 1s md_shktb A
Makefile bnd. f pldt.pro
README cipbnd.f rddt.pro
Readme.pdf main.f shktb_analytic.pro
Readme.tex main.pro
anime.pro model.f
N J

OO000000 FortranOOOOODOOO0OOOO0OODOFortran0 000 ooooon
gbobobuoggbboduoooboboooobbbbbbuooobobbbooobbn
Of0000000000Fortran0 0000000 0ODOO0O

UO000b00bObOO0OO0OD0DDO README U Readme.pdf U U U UOUOUOOOOODODOOO
Oo0ob0ooboooobD HTMLOODOO0OD0OODO0DO “htdocs” O web browser U [
gbobogbobogobbuodbboobobboobbobboboooboobboobo
OoOooodbo WebODOOGOOOooooooDOoO
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1.1 00000000000 (make)

0000000000000 0D0bOO0000DoOo00000oOooDoOoOOoOoooDon
“cans1d” U “cansnc” U 200 Omake DO 0O0OOOO“cans1id” O make D OO 0O OO0
000000000000000000 libcansid.al “cansnc” O make OO OO OO0
0000000 1ibecansnc.a00O00O00000O0O0O0ODODO0O

4 N
# cd cansild

# make

cd hdmlw; make
£f77 -0 -¢c mlwfull.f

(oo
touch .update

N J
e A

# cd ../cansnc

# make

(oo)
N J

cansldd cansnc 0 000000000 make DO DO 0OOO0OO0ODOOOODOOOcansldd
cans2d[] cans3dd cansnc D 0 D0 0000 0OOO0OOO0OOOODOOOOO

18



1.2 00000000 (make)

gbbogdbboodbbodbbuoobudbbobbodbbUdiUbmake oo
0000000000000 00000000000 (md_shktb) DO DO OOODODOOOO
gbbobuooobbbuooobbbibbout.cdf UUOODODOOOOOO

e D
# cd md_shktb

# make

£f77 -0 -c main.f

£f77 -0 -c model.f

£f77 -0 -c bnd.f

£f77 -0 -c cipbnd.f

f77 -o a.out main.o model.o bnd.o cipbnd.o -L..
-lcansld -L/usr/local/netcdf/lib -lnetcdf

./a.out
write step= O time= 0.000E+00 nd = 1
write step= 75 time= 0.505E-01 nd = 2
write step= 154 time= 0.100E+00 nd = 3
write step= 221 time= 0.142E+00 nd = 4
stop step= 221 time= 0.142E+00
### normal stop ###
N /

1.3 00000

OooobooIbLbddboobooboboogoobooibLobobooobon
000000000000000000000@dD00000ooooooot

1.3.1 IDLOOO (idl)

OOo0idloooogooooon

o >

oboooooboooboooIipLogobgooon

4 N
IDL Version 5.5 (sunos sparc). (c) 2001, Research Systems, Inc.

Installation number: XXXXX.
Licensed for use by: XXXXX

IDL>
N /

19



1.3.2 00O0O0OOO (.r rddt)

gobobbobbo00rddt.pro000OOOOO0O0O0O0O0OOO0O0OOOOODOODO
gbobbud.rUrundooogo

[IDL> .T rddt )

gbgbubobdbobrelpbgbobobuoboobobooogobobogon

s N
IDL> help
oo
FILE STRING = ’out.cdf’
GM FLOAT = 1.40000
IX LONG = 208
NX LONG = 4
PR FLOAT = Array[208, 4]
PR1 FLOAT = 0.100000
RO FLOAT = Array[208, 4]
RO1 FLOAT = 0.125000
T FLOAT = Array[4]
TE FLOAT = Array[208, 4]
VX FLOAT = Array[208, 4]
X FLOAT = Array[208]
Compiled Procedures:
$MAIN$ NCGETO1 NCGETOS NCGETS1 NCGETSS
oo
- J

PR(OD)ORO(DO)OTE(OO)OVX(DO)0 20000 (000000000)0000
000X(00)0T(00)01000000000000kelp00000000O00O0OO
00000000000[dOO00000000000000000PRO prO000O0
000

1.3.3 00000 (.r pldt)

goboboboobpldt.prol 000D OOOOOO0O0OOOO0O0O0OOOODODOODO
gooo

[IDL> .r pldt ]

20



O 3: mdshktb O O O

1.3.4 0000O0OO0O0OOOOOOO (.r anime)

didDoooooooobooboooboobobodbbanime.pro00000O00OOO0O
gbobddbbiodddiblanine.prod0000OOO0O0OOOOOOOOOOOOOO
gobooo

[IDL> .T anime )

1.3.,5 IDLOOO (exit)

exitUOOOOO IDLOODOOO0OOOOODOOO00ooooooborToobobonog
goooo

[IDL> exit )

21



oood

10Dbooggbbbooaoboo

1. 00000000000 (md-itshktb)0 OO0 00O 0OIDL O rddt.pro 0 pldt.pro 0 O
oobooobooood

2. 00000000000 (md_shktb)DO0O0OOO0O0O0O0OOO

3. 0000000000 (md_shkform)J OO 00 HJanimepro0 000000000

4. 0000O0MHDOOOO (mdmhdshktb)D OO OOO0O0O0O0O00O0O

=0 —1.2 o.o o2 0.4

By fagrt{ 45}

O 4: md_mhdshktb O O O

0d

e IUOUDOODDUUODN FortranUDODOODDUODOmake OO DOOOOOOMO
gbobbodbooboogdbobodbdbout.cdf 0D UOOOOOOOOONO

gbbouodidboutlt.cdf UODUUOOOODODOOOOODODOO
e OUODOUODDUOLDOOULDUL out.cdf U DU UUDDUUUmake cleanl]

gboboouoogon
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2 CANS 1DOOOOoOooono

gogbbbobobuooudgooooobobbbbooodogog 3bb0ddd main. £,
model.f, bnd. £ U OUDUOOODOOOOOOOO0OOOOOOOOODOOOOOOON
Omdxxx 00000000000 0O0O0O0O0O0O0O0O0OOO0OO0O0ODO0O0O0O0O0OO

[# cp -r md_shktb md_shktbl )

2.1 0000000000 (main.f)

gobobbobobbotbboddoooooobbbbbidduoddil main £ 0
gooogo

2.1.1 00000000 (ix)

gbobbouoooobboooobbbuooobbbuoooobobobbbooobbn
00 (md-shktb) 00000 (ix) 0000000000000 000 main.£00000
gogdgobbooogbbbbuoooobbbuoooobbboooouooobbo
gboboboooobbboooobboboogooboan

~
# cd md_shktb
# 1s
Makefile bnd.o model.o
README cipbnd.f out.cdf
Readme.pdf cipbnd.o pldt.pro
Readme.tex main.f rddt.pro
a.outx* main.o shktb_analytic.pro
anime.pro main.pro
\\bnd.f model . f )
00000000000 main.f00000000000 (1-500)00000000
a 3
c === |
c array definitions

C === |

implicit real*8 (a-h,o0-z)

parameter (ix=207)

N J

googopogoo27bugbiboob 2004070000 Omake 00 00OOOOOOO
gbobb2000000bbbuooodgbbbbuoooo1obobuoooobboo
40000020000 00000boboosuuuunbon
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2.1.2 JO0000O00O00OO0DOOO (tend, dtout)

00000000 (tend) OO ODDOOODOODO (dtout) 00O O0ODOODOOO
main.f00000000000000000O0O0OOOOOOOO0O (26-3200)0

a 3
G |
¢ time control parameters
c nstop : number of total time steps for the run

dtout=0.05

tend=0.14154

nstop=1000000
N J

gobogbboogdboooooloobboobbobooobbuooobboognoo
gbobogogbbboogbbobuoobbbuooobbbooobbbuooobbn
gbobobuobbuoggobbbuoooobbbooooobbouoogooboo

oood

O0000000000000000000000 (mdshktb)D OO OO0OOOOOODO
gbbboodgbobbooobobbbuoogn
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2.2 000000 (model.f)

O000000model . f00000000model . £0000000 (ro)00OO (vx, vy)O
00 (pr)D 00 (bx, by) D0 O0OODOOODODODOOO

221 000000 (gn)

O000000000000000OSedovOO0O0OO0y (gm0 O0O0O00OOODODOOODO
U00Omodel . £f00U0U00OOmodel . £0UUOODOUOOOOOOOOOOOOOODODO
000000 (13-1600)0

00000005./3.00000000000000000007./5.00000000000

=z )

make O O0O0AIDOODOOODODOODODOOOOODOOODOOODOO

oood

O0000000000000000000:SedovO (md_sedov) 0000000 OOODO
gboobooogn
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23 0000000000000 (main.f)

gbbooooobbuooobbboodgbbbodan

2.3.1 RoelOOOOO

0000 MHDOOOOODO (mdmhdshktb) 0 Roe0 00O 0OODODOO0O0OOOOOOO
O0main.f000000000 (12000)0000000000

- D

c solve hydrodynamic equations

C hdmlw - start >>>
call mlw_m(ro,pr,vx,vy,by,bx,bxm,dt,gm,dx,dxm,ix)
hdmlw - end <L
hdroe - start >>>
call roe_m(ro,pr,vx,vy,by,bx,bxm,dt,gm,dx,ix)
hdroe - end <L
hdcip - start <<<
call cip_m(ro,pr,vx,vy,by,te,vxm,rodx,tedx,vxdxm,vydx
& ,bx,bxm,dt,gm,dx,dxm, ix)

O o o o o o o o

hdcip - end <LK

N J

0000 “mlwm” 000 Lax-Wendrof 0 MHDO OO OOOOOOOOOO “roem” O
00 Lax-Wendroff O MHDOOOOOOOOOOOOOOOOOOOOO “call mlwm”
O00000000%%all reem” D0 O0O0O0Q0Q0O0OO00O0OO0OO0O0O0OOOOOOOOOO
ogo

s N
c solve hydrodynamic equations
C hdmlw - start >>>
c call mlw_m(ro,pr,vx,vy,by,bx,bxm,dt,gm,dx,dxm,ix)
C hdmlw - end <<
C hdroe - start >>>

call roe_m(ro,pr,vx,vy,by,bx,bxm,dt,gm,dx,ix)

c hdroe - end <<<

c hdcip - start <<<

c call cip_m(ro,pr,vx,vy,by,te,vxm,rodx,tedx,vxdxm,vydx

C & ,bx,bxm,dt,gm,dx,dxm, ix)

c hdcip - end <LK
N J
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2.3.2 ClIpOoognog

O000MHDOOOOOO (mdmhdshktb) O CIPOOOO0OO0OOOOOOReeO OO
OO0000DbO0000000Omin. fO00000O00O0OCIPOOOOOOODOOOO0OOO
gobbuoogboboogoboobboogoboobbboooooboobboooboboo
OOo0ooog3b00odcipObonoonobibdbndcipd0ooooooonoon

ogoooon
e
C hdcip - start >>>
dimension te(ix),vxm(ix),rodx(ix),tedx(ix),vxdxm(ix),vydx(ix)
¢ hdcip - end <<<
N J
-
C hdcip - start >>>
call ciprdy_m(te,vxm,rodx,tedx,vxdxm,vydx,ro,pr,Vvx,Vy
& ,gm,dx,dxm, ix)
call cipbnd(margin,ro,te,vxm,vy,by,rodx,tedx,vxdxm,vydx,ix)
¢ hdcip - end <<<
N J
. A
O e e e |
c solve hydrodynamic equations
C hdmlw - start >>>
c call mlw_m(ro,pr,vx,vy,by,bx,bxm,dt,gm,dx,dxm,ix)
C hdmlw - end <L
C hdroe - start >>>
c call roe_m(ro,pr,vx,vy,by,bx,bxm,dt,gm,dx,ix)
C hdroe - end <L
C hdcip - start <<<
call cip_m(ro,pr,vx,vy,by,te,vxm,rodx,tedx,vxdxm, vydx
& ,bx,bxm,dt,gm,dx,dxm, ix)
c hdcip - end <K<K
call bnd(margin,ro,pr,vx,vy,by,ix)
C floor=1.d-9
C call chkdav(n_floor,ro,vx,floor,ix)
c call chkdav(n_floor,pr,vx,floor,ix)
C hdcip - start <<<
call cipbnd(margin,ro,te,vxm,vy,by,rodx,tedx,vxdxm,vydx,ix)
c hdcip - end <<X
N J
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24 0000000 (bnd.f)

gbobbougobbbooobbdbbbdUbed.f000000O00O0O0OOO0O0O0ODO
md_shktbJ bnd. £ 0000000 OMN

4 N
call bdsppx(0,margin,ro,ix)

call bdsppx(0,margin,pr,ix)
call bdspnx(0,margin,vx,ix)
call bdsppx(1l,margin,ro,ix)
call bdsppx(l,margin,pr,ix)

call bdspnx(1l,margin,vx,ix)

N J
Oooobogobouoobibiboodbibd bdsppxU bdspnxUU 0O UOOOOOOONO
UO0D0D0D0OO0bpdsppx U0 0OODODUOOOO0O0OO00OOD0OOOOpdspnx0 000 noon0
gboobooggd
OO0000O0O0Owbdsppx(0D 0000, 0000,00,00000)0000400000
goooo

e J00000D00C0D000O0O0O0O0O0D0000000O0O0O0000O03000000
0000000300000000000000000

e 00000000 margin 00 00000000000000000000000
0000000000 0Omargin00000000000000000000000
0000 Lax-Wendroff 0 00 1000Ree 000 2000CIPOOO0 400000
000

e 3000000000 (ro)J00 (pr)000 (vx)000000000000000
000000

gobogobogbboobobogooobbogbooooboobuoobboobon
Ubbouodbbbuddblpudspnx U bdsppx U0 O OOOUOOOOOOOOOOOO
gobbbouoggobob4bbuogogoobbbuoooobboboooobboobobooo
bc/READMELN O ODOOOOODO
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CANS 1D0O0O0O00O (cans-1.00)

gbobobooogon

/
hdmlw/ OO0O0OOO0OOOMEDOOOOOO Lax-Wendroff OO OOOODOODO

gooood
hdroe/ Roe O UODOODOUOOOOOOOOOODO
hdcip/ CIPOUOODOO0ODOODOOOOOOOOO

bc/ gogbobbouoogobobooooon
common/ DO O0OOOOOOOODOODOODOOOOOOOOODO

cndsor/ DO 0OUOO0ODOODOO 1000000000 Red Black SOROODOOODO
ggooood

cndbicg/ DO UOOOO0ODOOO1000000O00DO BICGODUODOODOOOO
goobooo

htcl/ OO0O0O00OD0OOODOOOOOOOOODOODOOO

selfg/ ODOO0OO0ODOOODOOODOOO

md_xxx/ 0000000 0O0O0O0OO0OOOOODOOO0

-

gboboobdaog

README gogoobooooodn
md_*x*/README gobobuoogbbbod

md_x**/Readme.pdf DO OOO0OO PKFOOODODOODOOO
md_**x*/Readme.ps O UO0OO0O0OOPSOOOOODOODODO
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O0o0000ooon

s N
md_advect/ OO OO0 [OO]

md_shktb/ 00000 [O0O]

md_shkform/ DO OOOO [OO]

md_strongshk/ DO OOOOO [OO]

md_itshktb/ OO 00000 [DOOO]

md_mhdshktb/ MHD U 00O O [MHD]

md_itmhdshktb/ OO MEDO OO OO [0 O MHD]

md_awdecay/ OO0 Alfven OO0 O0ODOODO [OO 300 MHD]

md_sedov/ OO0OOOOSedovO O [ODOOOODODOO]

md_thinst/ DOO00 [0D0O0O]

md_cndtb/ OO 0000 [(ODOO]

md_cndsp/ DO00O00000O0O [DODODODODOO]

md_spicule/ 00O O0O0OO (MEDO OO ODOOODOO]

md_wind/ OO0 OParker 00 [ODOO0OOO0OODOO0O]

md_mhdwind/ MHD 0 O 0 OWeber-Davis U0 [MEDO OO OOOOOOOOO]
md_diskjet/ 00 O0ODOO0OMEDOOODOO (MEDO OO ODOODOODODOO]
md_flare/ 0000 [DO00O0O0O0OO0O0O0OOODOOODDOOO0O]
md_cloud/ OO00OOOO00O0O0 [DO0OOOOODOO]

md_clsp/ 0O00O0O0O0OO0O0O0O0O0O [ODOO0O0OO0O0ODO0DODOOO0OO0OO0OOO])
md_relshk/ DO0O00000000 [(0O0OO0O]

goboboooon

gbboodgboogbbuobbuoobbuoogbbooooboobbuoobboody

- D
bdecnsx 0O OO0 OO qq(1)=q0

bdfrex 0000 [O0Oqq(1)=qq(2)

bdfrdx 0000000000 OOqgq(1)=qq(2)-dqq(2)*dx

bdperx 0000 0O0Oqq(1)=qq(ix)

bdsppx 0000000000000000000000 OO0 qq(1)= qq(2)
bdspnx 0000000000000000000000 00 gq(1)=-qq(2)
bdsmpx 0000000000000000000000 OO0 qq(1)= qq(3)
bdsmnx 0000000000000000000000 00 qq(1)=-qq(3)
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Jooooboooooooggbogn
1 CANS2D,3D0O0O0OO0OOOON0

CANS2D0O CANS3DOUODOODOOOOCANSIDOODDOOOODOOOODOOOOOO
gbobobuoogbbouoobbobobbuooobbbouooobobboooobbo
O MPIFortranOODOUODOOOO “mdp." OO0 0ODO0OOODOOOOOOOOODODOODOODO
OO000000O00DOO0DOO0ODOO0ODOO0ODOOO0CANS IDODOOODOODOOO
gboogoboogoobooogan

1.1 0000000000 0000 (make)

00000000000 o0o0oOo0ooooooooooooooooooooooo
O “cans2d” O “cansnc” 0 000 Omake 0O O0OOOO “cans2d” O make O OO O OO
O00OO0000 1libcans2d.a000O0O00O0O

a N
# cd cans2d

# make
cd hdmlw; make
£77 -c¢ mlwfull.f
mlwfull.f:

mlwfull:
£77 -c¢ mlwhalf.f
mlwhalf.f:

mlwhalf:

(o)
N J

CANS IDOO0O0O000D00000“ansnc” 0 make 1000000000000
libcansnc.a0OJOO0000000(0 CANS1DOOOOO000O0O0O0O0O000000
000)0

# cd ../cansnc
# make

(oo
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CANS3DOUODOO0ODO0OOOO0ODOODOO0O0O0DO0ODOOODOODObDDOODOD “cans3d”
Umake DO UOUOODOODODOOOO0OO libcans3d.aU 0O OOOO
/

~
# cd cans3d

# make
cd hdmlw; make
£77 -c¢ mlwfull.f
mlwfull.f:

mlwfull:
£f77 -c¢ mlwhalf.f
mlwhalf.f:

mlwhalf:

()
N J

CANS 1DOOOOOOOOOOOOcansldd cans2d0 cans3d0 cansnc OO0 0 O OO O
O000Omake D O0O0OOOOOOO0OO0OOOUOOOOOOUOOOOO
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1.2 00000000 (make)

gboboogdgbbougbbuoobbuoubbuodbbdidmakeD0goooooogn
000 Kelvin-HelmholtzOOOOOOOOO (mdkh) 00000000 OOO

~

Ve

# cd md_kh
# make
f77 -c main.f
main.f:

MAIN:
f77 -c model.f
model.f:

model:
f77 -c bnd.f
bnd.f:
bnd:

f77 -o a.out main.o model.o bnd.o \
-L../.. -lcans2d -lcansnc -L/usr/local/netcdf/1lib -lnetcdf
./a.out

write step= O time= 0.000E+00 nd = 1

write step= 83 time= 0.100E+01 nd = 2

write step= 167 time= 0.201E+01 nd = 3

write step= 261 time= 0.301E+01 nd = 4

write step= 336 time= 0.401E+01 nd = 5

write step= 421 time= 0.500E+01 nd = 6

write step= 510 time= 0.600E+01 nd = 7

write step= 605 time= 0.701E+01 nd = 8

write step= 707 time= 0.801E+01 nd = 9

write step= 817 time= 0.900E+01 nd = 10

write step= 940 time= 0.100E+02 nd = 11

stop step= 940 time= 0.100E+02

### normal stop ###
. J

CANS2DOOOOO0ODOOCANS IDOOOOOOOODOOOODOOODODOOOOD
gbobbuooogbboboooobbbooobobbbooobbobouogoa
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1.3 00000

oboboooboobooboo Ibroboooboon

1.3.1 IDLOOO (idl)

diDo0ooooooon
[#idl )

1.3.2 0000000 (.r rddt)

gobbouoggoobooggo

[IDL> .r rddt )

1.3.3 00000 (.r pldt)

gbobouoogoobbodgdo

s N
IDL> .r pldt

% Compiled module: $MAINS.
Plot columns \& rows ? : 2,2

Variable for color-maps ? (ro,pr,te) : ro

start step 7 : O
N J

00b0obogboobboooobuodboobboobuoobuoouuubboo
gbbogbobodgbbogbbbogbooobogubuooboob2b 2000000
gobbogbogbbbooobbbooobibUrebO00prddb0tebgnognn
0000000000000 (vx, vy, vZ2)D0O00000O (bx, by, bz) 0000000000
gboboggbbogobbbooggobuogobooobbouoobbobooobooan

1.3.4 0000O0OO0O0OOOOOOO (.r anime)

gbbooodgobbuoooobbob

[IDL> .T anime )
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1.3.5 0000 (loadct,39 0 xloadct)

ouogbbodbudibibdlloadet, 3000 000O0O0O0OOOPIdt.prod IO
gobg

[ IDL> loadct,39 ]

loadct 00 0000000000000000000O0O0O00O0O0400000000
00000000 B-W Linear(00)00000000 3900 rainbow+white(0 +0 ) O
00000000000000xloadct 010000000000000000000

[IDL> xloadct )

1.3.6 IDLOOO (exit)

IDLOOOOOO0bDOoooon

[IDL> exit )
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CANS 2D0000000 (cans-1.00)

gbobobooogon

/

hdmlw/ OO0OO0OOOOOMEDODOODOON Lax-Wendroff 00O ODOODOONO
ggooood

bc/ gogbobbouoogobobooooon

common/ DO O0OOOOOOOODOOOODOOOOOOODOODO

cndsor/ DO 0OUOO0ODO0ODOO 1000000000 Red Black SOROODOOODO
ggooood

cndbicg/ DO O0OOO0ODOOO1000000O00DO BICGODODODOOOO
goobooo

htcl/ OO0O0O00OD0OOODOOOOOOOOODOODOOO

selfgmg/00 0000 Multigrid Iteration O UDOOOOOOOOODOOOOODOO

commonmpi/ DO OOOOOO
O0000000O0000O00DOo00oooooogog (veo)
cndsormpi/ DO ODOOOOO
O00000DO000001000D00D0 Red Black SORO OO OO
OoOoooooo (M)

nccat/ b NetCOFUODDOOOODODODOOOOOO

md_xxx/ [OO00000000CO0OO0 (ODOOO0O00CO0]J00000000

mdp_*xx/ O00O0000O000CO0OO0 [ODOOO0ODOOCOOJO0O0000O0O0
. J

Oo0o00o0ooo000oooo0ooooo00ooooUooooooUoO(oog
0)00000000O00000000o000oO0o0ooooooooooooooooo
O0000D0D00D00OOmdshktbd mdpshktb DO DO ODOOOOOOODOOOOOOO
gobbuooogbboboooobobon
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O

gbooooogn

-

-

md_advect/ OO OO [O0O]

md_shktb/ 0000 [O00O]

md_itshktb/ OO 0000 [0DO0O0O]

md_mhdshktb/ MHD 0 O OO [MHD]

md_itmhdshktb/ OO MEDO OO O [O O MHD]
md_mhd3shktb/ 300 MEDO O OO [30 0 MHD]
md_awdecay/ O OO Alfven DO OO0 [O0O 300 MHD]
md_thinst/ OO0O0O [0DO00O]

md_cndtb/ OO0 O0O [O0OO]

md_mhdcndtb/ OO MEDO OO [MHDO OO O]

md_shkref/ OO OO0 [O0O]

md_kh/ Kelvin-Helmholtz OO OO [O0O]

md_rt/ Rayleigh-Taylor OO OO [ODOOOO]
md_sndwave/ DO OO0OOO [ODO]

md_mhdwave/ OO MHDO OO O [MHD]

md_mhdkh/ MHD Kelvin-Helmholtz OO O[O [MHD]
md_mhd3kh/ 30 00 MHD Kelvin-Helmholtz O OO [30 [0 MHD]
md_recon/ 000000000 [MEHDOO O]

md_recon3d/ 300000000000 [300 MEHDOOO]
md_efr/ OO O0O0OO0OOOParker 000 [MHDO OO
md_corjet/ DO OO00OOOO MEDODODOOOO]
md_mri/ OO00O00OOOO [MHDO OO Coriolis ]
md_mricyl/ JO00O0OOO0OO [MHDO OO CoriolisOOODO]
md_reccnd/ 000000000000 [MEDOOOODOODO]
md_cndsp/ 00000000 [DODOOODOOOOO]
md_sedov/ OO0 O0O0OOSedovd [0DOOO0OOO0O0O]
md_jetprop/ OO0 OOO [ODOOOOOO]

md_mhdsn/ MHDO OO OO [MEDO OO OOODO]
md_diskjet/ 00000000 [MEDOOODOO]

md_cme/ DO0OO0O0O00O0ODOLowd [MEHDOOODO]
md_cloud/ 00000000 [(DOOOODCOOO]
md_mhdcloud/ OO MEDO O OOOO [OOMHDOOODOO]
md_mhdgwave/ 000000 MED O O O [MHD]

md_parker/ OO Parker U0 OO [MHDO O O]

Version 3.2 (2003/08/08) 00 0O OOOOOOOOOOOOO
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MHD

. Richtmyer-Meshkov

.CIP
MHD

Alfven wave

Richtmyer-Meshkov
Richtmyer-Meshkov

Rayleigh-Taylor

2 MHD



OB HIl

MHD
MHD CIP
CIP
CIP CIP CIP-CUP
CIP CIP-CSL2 1 3
MHD CIPMOCCT
MHD
MPI MHD SUN
Fujitsu VPP5000
MHD IMF
VRML
3D-MHD, Modified Leap-Frog scheme, MPI

CANS



CIP CIP-CSL2

CIP

of
L2 uf)=0
ot ox
1 1D-dir CIP-dir
CSL2-dir
Fortran
/7~ CIP-dir N\
ClPadv:1 CIP CIP.bou :
CIPf CIP.ini
CIP.non: CIP.shf
\ Makefile : PARAMETER : /
7/~ csL2-dir N\
CSL2.adv:1 CIP-CSL2 CSL2.bou :
CIPCSL2.f: CSL2.ini
CSL2.non : CSL2.shf
\ Makefile : PARAMETER : /
YR :fn, YRN : fr+1  RHO :p",RHON: p n*1 YU ‘u

CIP CIP-CSL2

make
IDL



CIP CIP-CSL2

CCUP

0 0 ou
PiuPL - p= cp ccup
ot OX OX
9 oY) o cipcsi2
ot OX
ou ou 10p
—+U—=—"—"—
ot OX p OX
op . op ou
—+U—=—yp—
o Vo TP
ﬂ:SLZ-dir

CSL2.adv:1 CIP-CSL2 CSL2.bou :

CSL2.f: CSL2.ini

CSL2.del : CSL2.pre:

CSL2.vell:

CSL2.vel2:

CSL2.vis :

\Makefile . PARAMETER :
CIP CIP-dir CCUP CCUP-dir
CUP.sor
IDL

CIP CIP-CSL2

CCUP

CIP-CSL2
CIP

CIP-CSL2

CCUP




2.1 2
CIP CIP-CSL2

of o 0
E+&(uf)+@(vf)—0

Directional Splitting 1 2

Doswell Front genesis IDL

Front Genesis

X sech?(r) tanh(r
U(X,y):—VT?y V(Xiy):VT? VT(I’)I (V) (r) I’:1/X2+y2
To

VTO VT (r) VT (r) =1

—_ Y
f(xy) = tanh(zj

V=Q@XF

F=(X=Xe,Y= Ve, Z—-2:) XcYeZc @ =27 /~/2(0-11)



